03 04 01

®
7,900| 7,810 | o | 0 1.13
RO3 ) (R05 ) (RO7 )
H26,30-R04  ROS- 45% RO3 884 RO7 RO
45% 60% 884
25% RO2 1006 RO7
25% 754 100%




R03 |R04 [RO5 [RO6 [RO7

A07-001 [ B BN B B 64
A07-002 [ I | 150
N 2u |
A07-003 ] ] ] ] ] 400
A07-004 ] ] ] ] 355
N 755 |
A07-005 [ B BN B B 50




R03 |R04 [RO5 [RO6 [RO7

A07-006 [ I B A B | 355
A07-007 [ I B A B | 120
A07-008 [ I B A B | 776
A07-009 [ I 50
A07-010 n n n n n 1,980
A07-011 [ I 100




R03 |R04 [RO5 [RO6 [RO7

A07-012 [ I B A B | 90
A07-013 n n n n n 1,100
A07-014 " == 20
A07-015 " == 20
A07-016 [ I B A B | 40
A07-017 [ I B A B | 300




R03 |R04 [RO5 [RO6 [RO7

A07-018 n [ n 300
A07-019 n [ n 300
A07-020 n [ n 200
A07-021 n [ 500
A07-022 n n n 40

[T T T T o]
A07-023 ] ] 500




R03 |R04 [RO5 [RO6 [RO7

I O )

[ I )




R03 |R04 [RO5 [RO6 [RO7

T le[= e [a] ]
oo DODD O
o le[= e [a] ]
oo DODD O
T le[= e [a] ]
oo DODD O




R03 |R04 [RO5 [RO6 [RO7

C07-009

10

BCP




RO3 RO4 RO5
@ 253 183 43

) 0 0 0

(c=a+h) 253 183 43
(@ 0 226 140

O] 27 269 164

® 226 140 19

0 0 0

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0 0
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